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Q.1 A) Select the most appropriate answer: (Any ten)

c) Tangible
d) Current

1. Goodwillisan____
a) Fictitious
b) Intangible

INANCIAL ACCOUNTING AND AUDITING INTRODUCTION T0 MANAGEMENT ACCL

Q.P. Code‘ ‘22502

[Time: Three Hours] [ Marks: 100]

All question are compulsory.

Figure to the right indicates full marks. -
Working should form part of your answer.:
Simple calculator is allowed.

190

asset.

2. Operating Ratio is an indi‘cétor of _
a) Operating efficiency
b} Production efficiency
c) Sales efficiency .
d) None of the above ' .

w

isanitem of cur rent hablhtv

a) Unsecured Loans
b) Cash Balance. ;
¢) Bank Overdraft

d) Bank Balance

/ 4. The capital required to finance day to day activities of the business is known

a) . Fixed (“apﬁal

Working Capital

¢)- Proprietors Capital
d) None of theabove

5, ASs ts whlch can be Converted into cash within one year are_____

a) Fixed Assets
b)¢ Fictitious Assets
¢) - Current Assets

d) None of the

6. InCommon Size Income Statement Analysis __
a) Gross Sales
| b) Net profit
Operating profit
~d) None of the above

, 8

above

is assumed to be hundred,
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Y.B. COM. (CHOICE BASE) SEM 1i1/C0831 FINANCIAL ACCOUNTING AND AUDITING INTRODUQTION TO MANA‘GEME :

. To calculate the cash cost of working capital debtors are

Q.P. Code :22502

Operating Cost Ratioisa___ i - a8 S
a) Balance Sheet Ratio 54 PSS ey

b) Revenue Statement Ratio

¢) Composite Ratio LA

d) None of the above

Current Assets 1,80,000, Current Liabilities 90,000; The amount of quking ‘
Capital is " :
a) 90,000

b) #1,80,000
) %2,70,000
d) None of the above

Comparison of performance ofa company overa perlod oftlme on the ba51s of base
year is known as __ N

a) Cost Benefit Analysls

b) Comparative Analys1s

¢) Trend Analysis

d) Common Size Analysis

a) Not considered

b) Considered at cost

c) Considered at realisable value
d) None of the above.

. Capital Budgeting decisions involve decisions relating to

a) Financing day to day activities
b) Acquisition of fixed assets

¢} Botha &b

12 4.

Q.1 B) Sta- e whether the foliowing statements are True or False {Any Ten)

%2

d) None of the above

. are the techniques of Capltal Budgeting.
a) Payback Perlod #

b) Accounting Rate of Return

¢). Net Present Value

d} Allof the above

10

‘Net Working Capital means Total Current Assets.

- The amount of working capital over and above the permanent working capital is

temporary working capital.

Operating cycle = Raw materials + Work in Progress + Flmshed Goods + Debtors -
Creditors.

Cash flow and Accounting Profit are different.

There is a time element involved in Capital Budgeting.

Capital Budgeting decisions are long term decisions.
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7. Liquid Ratio is used to determine the company’s long term solvency

Q.p. Codé 22502 , %

8. A higher Debt Equity Ratio indicates a safer financial position of the company
9. Outsiders contribution is not included in Proprietors Fund.

10. Revenue Statement indicates operating performance of a company

11. In Trend Analysis, the trend of each item is Calculated on the basis of sales of the

Base Year.

12. Owners Fund and Borrowed Fund are two constltuents of Total funds ofa

company.

2 A) From the following details of A Ltd. prepare a Comparative Balance Sheet in vertical form
suitable for analysis. v 5 ; ;

M/s A Ltd.
Particulars Amount (2) | Amount (%) | Amount of % of
31/03/2016 | 30/03/2017 change(¥) = | change
SO F IO CENLEQESE& T/
Share capital 6,50,000 P SR A 40,000 ' ?
Reserve & surplus 2,50,000 2,00,000 a0 ?
Debentures 11,50,000 .y (-)50,000 ?
Current Assets ? 3,00,000 40,000 ?
Long term Investment ? 2 10,000 10
| Current Liabilities ? - 2,00,000 (-)10,000 ?
Fixed Assets ? ) ? 7

08

(CHOICE BASE) SEM 111/ C0831 1 INANCIAL ACCOUNTING AND AUDITING INTRODUCTION TO MANAGEMENT ACC(

2 B) From the IoHowmv wtans of B L d. pxepare Commonsize Statement in vertical form suitable
for analysis. i

M/s B Ltd.

Balances for the year ending on 31st March, 2017
Particular (3)
Sa}es ‘ 8,33,000
Return Inward 3,000
Carriage Inward 4,150
Purchases ' 5,39,500
Opening stock 8,300
Closing stock 14,940
Office Expenses 99,5600
Selling Expenses e 1,49,400
Finance Expenses - 41,500

OR
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Y.B. COM. (CHOICE BASE) SEM 111/ C0831 FINANCIAL ACCOUNTING AND AUDITING INTRODU(;T}ONT(O'MANAGEM'E\J

Q.2

From the following Income Statements of Y Ltd,
vertical form suitable for analysis.

r R

Q.p. Code 22502,, S

prepare the Trend Income State: rent in T

31.03. zois

3)'1.():31.'201&"6\

31.03.2017

Particulars 31.03.2014 .03. )

, (3) (?) (Z)E s =)
Sales 75,000 50,0000 | 1,08, 0“00‘ 1,29,600
Less : Cost of Goods Sold 48,000 5_7,@9_ ; 69 OOO 84,000 - |-

27,000 <’ 33,000 39 ooo_»i_ | 45,600

Less : Operating Expenses & NG :
Selling Expenses 7,500 9,000 ,,6;0@,0 £ 12,960
Establishment Expenses 4,500.5° 2 59506 10,800 < "< 6,750
Interest on Loan 4500 = | 6,000 75000 1 9,000
Depreciation LS00 | & BI50° v | 5000076 S 8 9,750
Profit before tax 30607 6000 57005 .50 47,140
Less: Provision for Income Tax | 1,200 3,000 - 2775 4P 3,600

| Profit after tax 1800.% £ 30607 ; 2925 | 3,540

Following is the Trading, Profit & Loss ACCbunto‘fﬁXLtd. for theiyea;trf( ended 315t March, 2017. -

Dr.
{ Partxculars
To Opening stock

To Purchases : ’
To Carriage Inward- f
To Office Expenses /

fa

LTI,

0 _ Particulars

54,300 | By Sales
3,27,150 } By Closing stock

8,550 | By Interest on Investments

90,000
To Sales Expenses 27,000
To Administration Expenses 12,000
To Interest : 8,000
To Depreciation on Planti& o 2,000 |
Machinery S ’
To Depreciation on other Fixed | 2,000
! To Provision for Income Tax 16,000
f To Loss on Sale of Fixed Assets 2,400
f To Net Profit 3,00,000
b - oo ]
Y ‘ i 849,400 |

Calculate the followmg ratlos
Gross Profit Ratio

Operating Expense Ratio
Operating Cost Ratio

Net Profit Before Tax Ratio
Stock Turnover Ratio

e SO

4

8,00,000
44,000
5,400

8,49.400

Administratio:nExpens’e Ratio
Selling & Distribution Expense Ratio

OR

Page 4 of 7

54BBCBAB5980091F0366BDE7499371 4A

15



" (CHOICE BASE) SEM 111/ C0831 FINANCIAL ACCOUNTING AND AUDITING INTRODUCTION TO MANAGEMENT ACC(

Q.P. Code :22502

15

Q.3 Following is the Balance Sheet of Z Ltd., as on 315t March 2017;
Liabilities 4 Assets T
- Equity Share Capital 3,50,000 | Fixed Assets 2,50,000
9% Preference Share Capital 50,000 | Investments 50,000
General Reserve 15,000 | Stock 75,000
Profit & Loss Account 45,000 | Debtors ~1,20,000:
10% Debentures 50,000 | Cash 90,000
Provision for Tax (Current 20,000 |
year) ¢
Sundry Creditors 55,000 |
585,000 |

585,000 |

Other Details for 2016-17: ;
# 1) Sales ¥6,00,000 (80% on Credit baSIS)

2) Profit Before Tax 50,000

Calculate the following ratios:
1. Current Ratio v
Capital Gearing Ratio
Debtors Turnover Ratio
Return on Proprietors Fund
Return on Capital Employed :
Stock Working Capital Ratio e e i
Net-Profit After Tax Ratio IR el '

-3 v 0B

. Q.4 Q. Ltd. is considering the purchase of a machine, Two machines Alpha & Beta are available. 15
From the following details calculate: - S
/ 1.. Pay Back Period
‘ 2. Net Present Value @ 10% Discount Factor

CashInflows (%)

“Year PV.@10%
Machine Machine (of T13
Alpha Beta
1, - 85,000 75,000 0.509
2. 87,000 97,000 0.826
3. 90,000 1,27,000 0.751
4. 92,000 1,48,000 0.683 |
5, 1,00,000 98,000 0.621 |
6. 1,22,000 96,000 0.564 |
7 1,00,000 90,000 0513 |
g 8. 78,000 70,000 0.467 |
_ Cost of machine 2 2,88,000 ¥ 3,33,000
y Scrap Value 8,000 ¥ 3,000 i
/ Also advise which machine will be selected applying the above methods.
/ ‘ OR
Page5of7

54BBC8AB5980091F0366BDET4593714A



%

Y.B. COM. (CHOICE BASE) SEM 111 / C0831 FINANCIAL ACCOUNTING AND AUDITING INTRODUQTIO‘N;JTO M"ANAGEME\

(1 Q.P.Code :22502

{
/ ) —rg

/ Q.4 R Ltd has the optlon of selectmg Machine A or Machme B. Calculate the Annual Rate of 548 S

should be selected "

Year Net Earnings Before Tax (?) et
Machine A } Machme BE Ao«
1 110,000 | 1,15000| = -
2 1,20,000 |~ 1,30,000 | <
3 1,50,000 | - 1,55,000 | -
4 210,000 | 215,000
5 ~2,30,000- > & 2550005
6 240,000 | - 2,85000 |
: 7 S GL OO 000 : 2,2"0,0'00, &
/ Cost of the Machine I 45,000+ & A2 10,000 .8 %'
/ Scrap Value ¢ pet P 5 5,6)0(_):‘. & 8 .810,000
/ Tax Rate D oL 3@% Ao S 530% >

(

Q.5 You are required to prepare a statement showmg ‘che requlrement ofworkmg capital of S Ltd. 15
- Forecast level of activity is 52,000 units for the year 2016-17 (52 weeks)

Cost Strt; cture :

| Particulars Cost per unit(3)
. Raw-Materialys o = SRl o : 400 e
Direct Labbare o s s e r v e 150 2
Manufacturing Overheads = -~ 200
Selling & Distribution Overheads 100
‘ o b 3 850

/ Additional Informati()n-'

/ 4 )58 elling Price & 1 000 per unit.

b) Raw material in stock - average 4 Weeks
c) Creditallowed by suppliers - average 4 weeks.
d) Expected Cash Balance - 50,000.
e] Work in process - average 4 weeks.
f) Credit allowed to customers - average 8 weeks.
g) Finished goods in stock - average 4 weeks.
h) All salesare on credit basis.
1) Debtors are to be valued at selling price.
i) All activities are evenly spread during the year.

OR
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(CHOICE BASE) SEM 111/ C0831 FINANCIAL ACCOUNTING AND AUDITING !NTRODUCTMN TO MANAGEMENT ACCL

WS>/ Q.P. Code :22502

Q.5  From the following details of K Ltd., prepare a statement of Working capital féqﬁirerﬁénts for 15
the year ending 315 March 2017. F o dy D% : ’

1. Itis anticipated that production and sales during the year would be 5,000 units.
2. The Selling Price will be ¥ 200 per unit. Fodse N S s
3. The expected elements of cost to Selling Price would be
Raw Materials ~ 60% 7

Wages 10%

Overheads 15%
Raw material will be carried in stock equal to 3 weeks consumption.
The Finished Goods will be carried in stock equal to 6 weeks production.
709% of sales will be on credit and credit period would be on an average 6 weeks.
The suppliers of raw materials will give credit of 3 weeks. ‘
Time lag in payment of wages and overheads will be 3 weeks.
Cash & Bank Balance will be maintained at ¥ 25,000.
10. Debtors are to be valued at selling price. vy
11. Company works for 50 weeks in a year.
12. All activities are evenly spread during the year.

O N

. -

Q.6 Answer the following. : .

A) What is working capital ? Explain the factors determining working capital requirements. 10
B) Explain all Balance Sheet Ratios. : il
e aa e e T OR
(.6  Write Short Notes on: (Any four) : , 20
i) Classification of Current Assets
i) Common Size Financial statements

iii) Gross Profit Ratio

) Accounting Rate of Return Method
v} Gross Working Capital and Net Working Capital
Vi) Features of Capital Budgeting decisions.

ek ko R KSR ROR KRR SRtk kKR kR oK
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